







































































































Recall the unit circle x7y2 1

sin E Y Csc T to

cos X sect O

tant 0 coto 0

The following can be inferred

sin f Csc E into

cost_stef sect f

tano Toto Coto

These are our basic trig identities










































































































x y
definition ofunitcircle

Recall cost y sint Note e.g

cost t s in I coff_Cost
2

cos 0 t sin'f 1 tanbf Han
However

Pythagorean Identity sin to Girt
cos'f I sin't t 0

sin't I cos't sin f arcsin0

sin L code 1 L
cos't cos't cos't sin 20 sin't sin't

I i I total
I Ed

I Hauff sect coto 1 I cop

I tan't see't coff t I cs.CH

tan't Seif I
coto csa0 I

I Seif tan't I csc't cot't











































































Notice, we DO NOT MOVE ANYTHING OVER THE EQUAL SIGN.






Identity if given two functions.fCx andglx

f x gG for all values of

X in both functions domains

Consider the system of 2 Linear equations

y 2x I

11 21 3 15

Both certainly lookequal Prove it

2x I 2 x D 15
2x I 2x 6 15

2x I 2x 1 D or QED







Our objective for this topic is to prove that these identities are true. We will be using various 
algebraic manipulations and identity substitutions in order to do so.

 I repeat, DO NOT MOVE ANYTHING OVER THE EQUAL SIGN.






























































































Verify that these equations are identities
Consider yourselves

Sino cot 0 _cos 0 to be

Sino gtfo cost plastic surgeons

sint cost
Yourjob isto

to
cost umakeuglyintopretty

OSO cost 17

cost sect cost siiO

cost Sec0 cost cosD sink

cost cos't sin 0

I cos't sin 0 ANT

forotsino
coio siio JI hassioif.IE
sin't sin'D QED










































































































Sino cosotsinf
tanf

tano
cos0t

Cost It cost

tant

tant tano II

It O cos't
ai b ktDk b

12 sin'D cos

201sin 2 cost0

coff cos
QED










































































































not SET Catbkitkbt
Sec 0 125in 0

cost

t 0t Seco 2sino

cost

s
t0Ot0 see 2sino

cost

tcos 2f 0 seeD 1 2sint
cos Q

lt 0wt sect 125nF
010

sect 125nA
cost t

251 no cost

sect 1 2sinf sect 125nA










































































































CoS2 f
Tino

sin 0 csc 0

is
s

coffee sina.IO

cos't 1 sin20 stiff

QED










































































































Sin tan't tan E sine
























































































cosCH 1 co

tankI see It

1 cos Ct

t
conjug

colt cosA sett l co

t seat tankt

coshy.geftu.fi
lcosHItan4t

cos t I

Ct

t
seat l

l costHtt

Titty
t

seat I

t.it i E a



Seck tank 1056

six s Y c



i ai
It cosA A A

1 cos2A

It cosA A A
sin A

It cosA It cosA II

I cos4k IF coital

4 sinka It cos k L

sink
os4aD_

sink I cos k

sin a sin a I



7

2 Csc CH t Kt

LCD LCD

soso.CH
e ast i't't

2C silt lt H

I cosCH l 1 cosCH

2csc4H 21cos t

2 Csd t
2

Sin t

2 csc2Ct 2 sista

2 csi HI 2 csd t QED


